
02.12 Отбор мощности 
 

 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

001 2071700944 Отбор мощности  
002 3091172310 Болт M12 x 60 ISO 4014 - 8.8 MKS 720 
003 9902000290 Насос шестеренчатый UN 100A.11 
004 3111105380 Шайба 13 CSN 02 1702.1 MKS 720 
005 3111108860 Шайба пружинная 12 CSN 02 1741.05 MKS 720 
006 3111100670 Гайка M12 ISO 4032 - 5 MKS 720 
009 2735213410 Уплотнение для валов 60 x 90 x 10 FKM BAUMX 7 
010 2016590644 Вал  
011 3241652130 Шарикоподшипник 6012 A P6 
012 3111731810 Кольцо стопорное 95 CSN 02 2931 
013 3111730530 Кольцо стопорное 60 CSN 02 2930 
014 2731103770 Кольцо уплотнительное 84,2 x 5,7 BEIER FKM 75 
015 2045360564 Поршень  
016 2731103970 Кольцо уплотнительное 99,2 x 5,7 BEIER FKM 75 
017 2016600554 Муфта соединительная  
018 2050810414 Кольцо  
019 2050512564 Пружина  
020 2013030144 Картер привода  
021 3119013080 Кольцо уплотнительное 14 x 18 CSN 02 9310.2 
022 2053651174 Горловина  
023 3091116700 Болт M5 x 10 ISO 1207 - 5.8 MKS 720 
024 2731103820 Кольцо уплотнительное 31 x 4,5 83 FPM 592 SIM 
025 2010730244 Крышка насоса  
027 2016180054 Крышка  
028 3091113610 Болт M12 x 30 ISO 4017 - 5.8 MKS 720 
029 2071700644 Отбор мощности  

 
 


	02.12 Отбор мощности

